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Zápis si přepiš do školního sešitu. 

Přítomný čas prostý - zápor 

V přítomném prostém čase se zápor tvoří pomocí pomocného slovesa do not – zkráceně don’t 

 u 3. os. j. č. does not – zkráceně doesn’t . 

Za pomocným slovesem don’t/doesn’t je významové sloveso v infinitivu.  

Příklad:  

kladná věta                                                                                        záporná věta 

She gets up at seven.                                       -                          She doesn’t get up at seven 

He studies English.                                           -                           He doesn’t study English. 

Převeď tyto věty do záporu a zapiš je do sešitu: 

1) We drink tea for breakfast.  – příklad – We don’t drink tea for breakfast. 

2) I play the drums after school. 

3) Anna has cereal for breakfast. 

4) My dad goes to work by car. 

5) School starts at eight o’clock. 

6) Peter and Jack take the bus to school. 

7) My mum watches TV every evening. 

8) Mia brushes her teeth. 

 


